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v4r tru6ursefulg. (09 Marks)Write short notes on: i tri ...'" a

(i) Principle of tranymr.ssibility 
. lll] P31c1qle.of super position. (06 Marks)Define couple *nd enumerate the characteirstics gfrffipr..

.i::ir".,r ':i::w !: " (06 Marks)
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Wrjte.briefly thg CQssification of roads Uy-N1gp;, road plan.Explain the rore orcrvir engineers in tn, iotuji*.t * oIr[rop*.rt of a country. ff ffi13Find the,qlo-iueflttrtn. foie aboutA;;i-ffiiilffiH?"l"force shown in Fig. e2 (c).

4a.
b. *T:jl::1{i::.ryrie,n1of frttion is equat to tangent of angle of &iction.

l,TTffi #',nT'Jxl',rotceactins;;6il;;:;;;ffi ;;;;rT:8loo,n,,#i##land direction. (Fig. a4i(S)):
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.,,S.r.+-,,,]{" ::,'rrir"''D' Determine the force F and its inclination 0 so as to rift a blbik of weight 500 N .rtllff;i?
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Module-3
State and prove "Principle of Moments".

17ClYt3l23

(08 Marks)

Determine support reactions at A and B for the
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Determine the distan&*Y- of the load 'P' from i$€,pirpport A, if the reaction Ra is twice as

great as reaction R..&*flakeP = 2 KN, Q = I KN.Refer Fig. Q6 (a).
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which the centroid lies at a distance of 50 mm fronn

b

lSern,
Fig. Q7 (b)
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Find the magnitude, direc(ion.Snd position of th&.es${iant with respeotrto point 'A' for the

force system-shownin rlgofu Ol 4** * "*

(10 Marks)
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Derive an expression for distance of centroid of a triangilcdtove its base. (08 Marks)

Calculate the second momqnt of area for the *sfla@ portion of the given section

(Fig. Q8 (b)) about its horizontal centroidal axis. A*'roi1 the radius of gyration.
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Fig. Q8 (b) (12 Marks)
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a. State Newton's law-s Offiotion. (08 Marks)

b. A pilot fiying hi$ffimber at a height of .Q000 m with a uniform horizontal velocity of
600 kmph wan{B tq\trike a target (Fig. Qq,:(b}). At what distance from the target, he should

release the bomb.
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l0 a. Define the foliMing terms: tr*..1

(l) .,rV'6locity of projectioe* :.:: '".:T;*
iir) " Angle orptoi.Ctiuil .-',,. .'.,.(iii)' Trajectory i'tu :(rH)} 'l'raJectory ffi(iv) Horizontal pngo-
/ \ T:---- -f.cl:-L.
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b, 
*rii iar starts with u.*6ii$ity of 4 m/s anOffiV"es in a straight line wih constant acceleration. If

:."r'd'iiis velocitv at thdlend ol 5 seconds is 6.5 m/s, determine (i) The uniform acceleration
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(ii) Distance (10 Marks)
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